BSEH Practice Paper
Subject: Economics, Set - A Class:12th

General Instructions:-

)

i)
i)
iv)

v)

Questions paper contains two section.

Section - A- Micro Economics

Section - B- Macro Economics

This paper contains 20 multiple choice questions type questions of 1 mark each.
This paper contains 4 short answer questions type questions of 3 marks each to be
answered in 60 to 80 words.

This paper contains 6 short answer questions type questions of 4 marks each to be
answered in 80 to 100 words.

This paper contains 4 long answer questions type questions of 6 marks each to be
answered in 100 to 150 words.

B 17T —

)

797 77 § & GE &/
T — §— & G
ST — F— FHE e

i) §F 99V F 1 JF B 20 TgABANT FIT &/
i) §% 99V F 3 B B 4 TY TAOT FIT & [o7H 7 FF F GTY 60 F

80 TG T ET/

iv) §F 99V H 6 TG TANT FHEIY P FIT & [of7H & H&F B FAV 4 FB

F7 & I Gav 80 & 100 51 F G &/

v) S 99V 7 6 ) P 4 T TTOT gHI P g7 & [5TE 7 I9F B

TV 700 @ 150 TG F G 517/
Section- A (Micro Economics)

The Subject matter of “What should be”

a) Real Science b) Normative Science

c) Natural Science d) None of These
"1 BT AMRQ” BT 49T I 5—

a) RIS fa= b) aEiA® fasm

c) wGfad fasm d 3T A BIS T

The slope of the production possibility curve is
a) Convex to the point of origin b) A straight line
c) Concave to the point of origin  d) None of these

JcuTe HAYIGHT b DT Sl Bidl 28—
a) W fog 0@ AR IR b) HA &g FT IR AR
c) UH AT AT d sTH | PIg 7Ll

Marginal utility may be:-
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a) Positive b) Negative

c) Zero d) All of the above
Hid IR 81 A 8-
a)  gArHD b) RUTH®D
c) I d IwRiad
4. Fixed cost is
a) Electricity Bill b) Expenditure on raw material
c) Daily labour wages d) Interest on fixed capital
§ef T B B
a) fIotell @1 9o b) Hod AT WR T
c) <fF® | B Ao d) 8 Yoll R e
5. Choose the correct equation
a) AR b) MR
TR= — AR= —
Q Q
c) ATR d) AR=TRxQ
MR= ——
AQ
HET FHIDROT g
a) AR b) MR
TR= — AR= —
Q Q
c) ATR d AR=TRxQ
MR= ——
AQ

Fill in the blanks with appropriate words.

R i o7 Sfaa ot & vRY |

6. “Principles of Economics” was writtenby ___ (Robins/ Marshall)
“Principles of Economics” -IH&® Ykdd ... SR fordn TI_.%S |
(fe=a /i)

7. An indeifference map is a group that represents ________indifference curves
(one/more than one)
deerdl AT Th UTH & S o dJexerdl dsh /dshl Bl
gfdfefera ®Rar €1 (T /Teb A 37ferp)

8. Under perfect competition (AR > MR/ AR=MR)
ol gfREfE B e Graa om > <

3 /3T 3 == 371)



10.

11.

In the following question, two statements are stated as Ascertain (A) &
Reason (R). Choose the correct alternative among those given below:
Alternatives:-

a) Both Assertain (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertain (A)

b) Both Assertain (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertain (A).

c) Assertain (A) is true but Reason (R) is false.

d) Assertain (A) is false but Reason (R) is true.

frfaRad ue #, a1 HAl BT IMHeE  (A) 3R HRUT (R) & wU H
AT Y B | A I Y fAwedt § ¥ 98 fAwed I

famea—

A) AMAHAT (A) IR BRI (R) TFI I & R SR (R) IM@T (A) BT
AL WA 7

B) 3if¥®ed (A) IR BRI (R) &FI I & IR BRI (R) @1 (A) BT
HE WD &l 2 |

C) MM®YH (A) I & oifdhd BRI (R) TAd 2 |

D) JAMHAT (A) TTeld & olfdhd BRUT R) I 7 |

Assertain (A) : TP is constant when MP is zero.

Reason (R): MP measures the change in TP.
IMABAT (A) : Bl ScTa" ReR g Ol HHid IaTe I & |
HROT (R) : AT I, ol Scdre H gRac S AT 2 |

Assertain (A) : Negative MR is possible only when price is declining.

Reason (R): Under perfect competition, AR=MP and both are constant.

AMFHAT (A) © FUMHS A M T4 9T © o9 HAd TR 20
Bl |

HRUT (R) : YOI URRIRTAT & 3favid, SiEd oM = WA 3 3R
Sl ReR 2

Draw a diagram that clearly shows the constant returns to scale. =~ OR

Explain the concept of production of function?

U N1 9150 578 89 & g8 ufdhe W 81| 31erdn

IATET Bl Bl YR B IRAT HITVT |




12.

13.

14.

15.

16.

17.

18.

Explain the meaning of non-price competition with examples.
IR $md gferarar &1 sref IerErvr Aftd e o |

What is price elasticity of demand? Explain any three factors affecting it?
OR

What is meant by demand? Mention the three factors which influence the
demand for a commodity?

AT & PHd & drd B9 ded 87 9 YHIdd &R drel fdhel o
dcdl Pl AT H? FITT

HRT BT @7 37 57 qE] DI AT DI GHIAT B dlel IF ded DI
q 87

Explain the role of a firm under perfect competition?

qof YRR & S Uds i <hl fHehT Sl ST BHITSTY?

What is meant by economic problem? Why does it arise?

s THEIT 9 T AU 27 IJ§ R II Bl 27

What is meant by production possibility curve? lllustrate with the help of a
table and diagram. OR

SIS GYIIET dh RIT &2 T dlfoldl a2l = gRT W o |
/A

Explain the characteristic of indifference curves.
eIl dshi @ faRIarell & quie Py |

What are the three stage of production? Explain with diagram? OR

IdAEd I A9 ARG hIF W g7 o aftd IrRaEm $ifviv
reran

Distinguish between extension of supply and increase in supply with the help
of diagrams.

REIA o R 9 Ykl H fOwR o yRki § gfg H R 9asy |

Section- B (Macro Economics)

Macroeconomics studies:-
a) of Whole economy b) of anindustry
c) ofafirm d) None of these

TaRe—31eieRT J1e0d Rl &



19.

20.

21.

22.

23.

a) ol SrefeaRel @ b) TH IERT A

c) WD BH Bl d $H | BIg ALl
Who issues one rupees note in India?
a) RB.L b) Govt. of India
c) Commercial Bank d) Haryana Govt.
AR H U ®UY T Al DI IR HRAT &7
a) WRA™ R4 d@ b) YRA WRHR
c) TAMURSG §b d) sRITM RPAR
Marginal propensity of consume is equal to:-
a) AY b) AC
AC AY
c) C d v
Y C
AT SUERT Tafd (MPC) aRTER 28—
a) AY b)  AC
AC AY
) C d vy
Y C
Which of the following is an example of direct tax?
a) Import-export tax b) Production Tax
c) Sales Tax d) Surcharge on income tax
ffoRaa & & Uuel $R BT SERT HIF—4T 8-
a)  ATA—IId #R b) IATET BN
c) fdepr IR d) MIHR W A
What is the relationship between demand for foreign currency and exchange
rate.
a) Opposite b) Direct
c) Norelation d) All of the above

fae=l 7a1 @1 AT qer My o) 4 T 9=y 9T ST 87
a) fouda b)  gcger
) Py =Y Ll d SWraad a4l

Commercial banks contribute to the supply of money by way of
(loans in cash/ loans in demand deposit)

OIS b HaT Db 3MYRT H IR DRI B oo GRES
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25.

26.

27.

28.

29.

30.

FEUT /T § ST 0T

Domestic income = National income (Net exports/ Net factor
income from abroad)

R MM = TR 3 o (ge Ffa,/ facel 9 gg e
M)

receipt (Revenue/Capital)

FOT BT AL T g &1 (arore /i)

Assertation (A) : Transfer income are not included in the estimate of national
income.

Reason (R) :- Transfer incomes are not earned as rewards for rendering factor
services.

AMMABAT (A) : BRI M Bl A T B Ahard H IAMAA ol
foar Sirar 2

HROT (R) : TRATART AT B AEF AN UG IRA B [l RER B
wU H AN &I B STl |

Assertation (A) : Notes and coins are backed with authority of the government.

Reason (R):- Notes and coins are legal tenders.

AfHIE (A) @ Al IR Riad AR & ARHR | FHUT o+ 2|
HROT (R) : Are 3R g dg qa1 2 |

What is meant by the problem of double counting? How can it be avoided?
OR

QIENI TOET & FHRIT | T AU 22 /0 D g7 Sff Il ©
What do you meant by Open market operations?

el IR B fHATg F T AU 27

What do you meant by “Say” law of market?

' b IoR b I I w7 A 28?

What is meant by balance of payments? Name its components? OR

YA AN ¥ 379 T FAS 57 S Jal & AW for@i? a7

What is excess demand? How can it be control? Write any two solution.



31.

32.

33.

34.

Ifr J5h7 w1 AU 87 59 Ry yer fafag fear war 2?2 ars
31 U §aTy?

What do you meant by Bank Rate?

g6 X I 7 FAU 27

Explain the difference between Stock and Flow?

T(h dAT UdTE H R WL Hy?

Explain circular of income in a two sector economy with diagram? OR

Tl &3 drell JfaRell ¥ I & Udhig Ydle & IrAT fF Aafgd

HASSY?  3fefd]
Calculate national income based on the following data:-
ltem (Crore)

i) Disposable income 9000
ii) Corporation Tax 800
iii) Net factor income from abroad (-) 400
iv) Undistributed profit 150

v) Personal direct tax 100

vi) Transfer payment

ﬁﬁr%r@ﬁaﬁmzﬁsﬂwwm@uma%maﬁ?

T (@RTe)
i) TR 3 9000
i) T AR 800
iii) I3 ¥ Y& IRS A (~)400
iv) 3TfAARd 4 150

v) SRBITA g&deT iR 100

vi) RITHTAROT I 50

Explain income method of measuring the national income? Or
ISR 3 BT TUET R Dl 3 (A BT e sy | g7

Define money? What are its main function?

T B URETT SITSY? §96 & BRI AT &7



